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Module Name : TET - Paper 2 Tamil - Maths and Science
Exam Date : 04-Feb-2023  Batch : 14:00-17:00

Sr. No. Client I(]QDU estion Question Body and Alternatives

1 1 An individual gratifies the frustrated desires in the world of imaginary achievement is

2 SefIILLL 06 ST SeTaen LW 6lJ65) DL HS 2,0 &F56M6T, HMHLIMETWITS FTH S LIS
SLIs @l

AI Repression

SILEGS
'A2 Regression
LeirGeor e & & QlEF6beu6y
3 Fantasy
L& M SH60T6) & TS5 60
4 Projection
LSS SH6
The intelligence that represents the verbal ability is called :
QFTHSH60)6IT 60185 WLITEBLD B1600T600T N6 6T60T LIS :
| .
Linguistic Intelligence
QTAUNW6H Bieworemr ey

62 Logical Intelligence

B8 &\ Wmeor Hievorevor ey

3 Interpersonal Intelligence

FENG 2 M6y QGITLITLIMET [51600T600T 116

54 Naturalist Intelligence

@umenssaw LiflbSIQ&sMeTEpLh Hieworeuor mley
3 3 How many cards are used in the Ink Blot test ?

MGG CFTH6TUNG 6755 6Me0T 2L 6L 86T LILI6GTLI(H &5 LILIH S 6dTm e 2

Al's

A2
A3
A4

20

Imitation and Reinforcement do play an important role in .

N6t mig e LoMmmID eueliL(h & Sig 60 (WSRWLI LITIEG 6uH &S 6oTme60T.
Al .
. Language development in parents
QumCMMiserfler Qmy aleTigF& ufsy
,A2 Language development in elders

s Cs TG ler QM aueTFFe ulley

63 Language development in Children

Gphengsafler Qumy alaryFFuiley
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4 Language development in aged people
auwgmGearmifler Qmy eueTrFR N6
5 5 In the counselling process the main emphasis is on the Counsellor's :

MleyenT L&FH QFwWepammuiley omleleny LigsTueufler (WPSETeD QUMISMS!.

AI Self confidence

Seoteur DL &6 &
.:/\2 Self control
FW s HUuum@®
63 Self acceptance
& goLemL6emLn
:A4 Self esteem
S6T HILIL
6 6 At what stage, the problem is defined and explained in creative process ?
5SH QFWMHUITL Y6 F&&60 6UemTWMIGSSH6 LDMMID 6568 &6 558018 8 MeoT Blensv

:Al Incubation
S|ELE STVl
‘62 Preparation
SWMTUOSSISH60
:AS Illumination

2 6T eerflfgeu

64 Verification

FHluMI&S60
7 7 According to WHO (1965) alcholics are defined as .
2 UGF GHHISTT HlOIeUeTSH6TLL (1965), GL9LILIGIT eTedTLIGUT 62(H

fM Maniacs

Qeumdluiy

.'A2 Patient
Gmrwimerf]
AS Mental illness
o6t GBmwimerfl
_A4 Excessive drinkers

W5IEHH W G195560 2 6L W6l

8 8 In the learning curve ' period of no progress' is refered as :
&HHML auemerailey (PETCETMHMLIVEITS &ITELE S —— ETETMI SMPESHLILIGRMSI.

AI Zenith
Qs
‘62 Decline
19.85 60760 60T
{\3 Plateau
et
:A4 Spurt
2\ ]

"Language is used for communication" is related to :
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"QLMY H&6U60 QSTLILEEG LWeTLUGRMmS!" 6T6oTLIS! :

! Psychomotor

2 6T @UIGSLD &FMY
62 Cognitive
Sileysmy
"A3 Affective
LOETQEU(WERFTH
54 enhance
2 WHSSIH6V
10 10 Who developed the modelling technique for modifying problem behaviour ?

FH560 FLEMSEW WTHD Wiy rHFlwunes 2 S 2 HaumsSHwg ?

1 Ausubel

9|5 LI6V
52 Woodsworth
2 Leveeis
53 Albert Bandura
LOUTL LeT@®Fm
A4

Jerome Bruner

QKGTTLD Lemevory

11 11 According to Freud, the psychic energy that empowers all mental activity is called as the .
N7 miligedr SammILILIG SI6M6TS S LD6T Q& WEVLIT(HS 6T LD STeooT(HILD DT &L,MMEV eTeuT
SMPEHESELILORMSI.

Al Libido

NG

_A2 Fixation

1616007 WD
fAB Sublimation
LS MBISLOMEH60

_A4 Projection

LUmSESMHMLD
12 12 The third step of Case - Study Method is :
vt Q6T Y16 60T eLPETMITLD BletI6y :

"Al Data relating to the factors to be studied

216y & @MW &ITTeool] & EBL6T QS ML L &IJ6) 86T

‘62 Objective analysis and interpretation of collected data

QuoUIWImesT HmeTmilie) HMID CF&HF&SLILLL $T6e|semeT QUTHL LGS0
'AB Introduction of remedial adjustment measures
GODEIHSH QUTHSSILTE LHLTH ST AP WSILGSSH
‘:A4 Writing the final report about the case
geofl pueIL UDElW QIS Syliene Sieflssen
13 13 is a main factor in concept formation.

&([HS SI([H6UTE G G660 (NEHG W SITTevofl 2GSLD.

! Experience

eIl
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A2 Teaching

&MHLI556
3 Concept
5HS5S)
54 Content
UM UQUM@®eT
14 14 Blame or Insult should never be applied to :

SO Fa MG (2]) CH QFUIGHE WMHEHES @@ CUMSID LWaTLUHSSE Fal_MS ?

Al Extrovert students
LIM(LN& LOITE0T6U [ & 6T
_A2 Introvert students
SIS PG LOITEOOTEU [T &5 61T
_A3 Slow learners
QIDEVLELE HHBUITY
_A4 Ambivert students
@)\ ([H(LD S LOITEUOTEU [T 85 6T
& Which one of the following systems of psychology was developed by E. B. Tichner ?
B LD & 600TL UMD MIET 6151 6260Tml 2_emeflied H & MetT Q& W6V(LPEMMUITE E.B. 19U Fe0Tl 2_([Helme:SHermy?
‘,Al Psychoanalysis
2 eTlLGLIL

62 Structuralism

aulgeuemLIL] GHTLUMH

53 Behaviourism
BL &6 &UIwieL
54 Functionalism
QaweLImLGiefuiesy
16 16 The factors that lie with in an organism which prompt one to pay attention to an object or event are known as :
(b Bl&LD6e| 31606vgl QUITBeleT Wa FiflwmerT selerd QFass, 2 ullifl&Ena G 6aTCerGL &mesorLiLI(hID
G ITIT600 I WIMTETS ——— 6T60T S ML&&ELILGRMSI.

_Al Subjective Factors
2|56 HeOTemLOU|6m L SITTeuorl
52 Voluntary Factors

SHETETITI6U HET6MLD & ITT600f1
?A:; Objective Factors
LmeuwILIL L SedTenln &ITiyeuof]
54 Habitual Factors
QULDEGLOTEIT HEOTeMLD & ITJ600f1

17 17 did not approve of punishment as a reinforcer because punishment might produce emotional blocks.
CTEOTLIGUT &600TL 6M6uTem UL 1F elevie, L IQUIME L1 &6 & TaTemell606mey 6] G6oT6ntl6l & 600TL60)600T
LDETQEUWEFS SHILIML 2_([H6UTE LD 6T63TLIGT6V.
! Pavlov
SUIMTeUG6uIT

fAz Watson

QUTL_&edr
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63 Kohler

Camevy
‘_A4 Skinner
6V &\ 6dTE0T Y
18 18 Thechilds__abilities reach the stage of complete development by the time he is six.

&L01H60) S &6l 60T FM6ETSHET @b, M QUG MG 6T (LD (LML WLITET QUETTEFS Bl60)6v6mU 2160)L_G 60T ME0T.

fM Mental

LoeoT
?AZ Physical
2 L6y

3 Social

FepsLd
é4 Moral
R(D&HSHLD
19 19 Which stage is opt to become "hero-worship" ?

SHSMHTWS LO6OTLILITETEnL06ML 2 _(H6UME &L GQ\LIT[HESLOMOT LIHeULD 618! ?

AL Childhood
GBS LIHeULD
52 Pre-adolescence

(DT GLOTL LI[HeULD

53 Adolescence

ST L@HeULd
54 Pre-adulthood
(LT QUWIS! eUBCSHTT LI(HeULD
20 20 Emotional intelligence may be defined as the capacity to reason with emotion in four areas, to perceive emotion, to integrate it in thoughts, to
understand it and to manage it - given by :
LDGOTQ6U (&G [51600T600T N6 6T6OT LIS FELN G [Bl6voTeoor Ml 6l6dT 2 6T S MBISGLMEGLD. H0G! MM LMIS 2 600TI6) 56T,
DT (WD FR ST 2FWeuMenm &eooTMbS! WenMLILGSSID nflensl QUDHMIGLILCSHTEH), Seumniéh Herrgl
&[5 S 6 60TSHEM 6T LD QFWESHMETULD QBEMILILGSSH CLILLGSH S Q& TeTausNE&S LIWTLUMB SSID oM menev
QUOMIBLILIS - eueDTWMISSH6UT :
'Al Hurlock
amyeuTs
fAz Skinner
6N & 6BTeuTIY
A3
.~ John D. Mayer and Peter Salovey
2Medr GW T wHMILD LT LF svCeumGeu
54 Ross J.S.
@rmen J.S.
21 21 creativity stands for spontaneous expression without originality and quality.
2_GUOTeMLN S & 60Ten 0 LDMMILD SILD G)eVevTs S @ elerfliiLim@® L&HSTH MET 2LGLD.
"Al Productive
LemL LIl
'AZ Inventive
SHe0oT(HILING L1L
A3 Innovative
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L&lemLn
54 Expressive

QeuerfliLm_ ()

22 22 approach is a counselee centered approach.
2MleYemT QLMILIEIEDT 6MLOWILDTEHE G186 TETITL 3] 85I G (L6 M 2|60 G (LMD G LD.

! Directive Counselling

QBALLGS SIS SiMlelenT LISFEHe
?42 Non-directive Counselling
SETABNIILEOSSISH6) SAMlelenT LISTSHE
53 Eclectic Counselling
FL0&F 9ple|mr LUSTSH6
é4 Psychological Counselling
2 arellwevaEmy infle) LIsTSH60

23 23 Study of one's behaviour related with the task of finding a solution of one's problem is termed as in the subject of Psychology.
@G LW LUTFFanaruilaienL w e $iene &meanUsnHE& W G 2 emplLLeT QaTLTLUGSSID
H6euleT BLSmSUIsIenL W SUlene6l 6T60T LIS S G 60 2 6mailie) LML SH6v 2jempLIGLIMLD
fM Case Study
SeoflWmelT gy l6]
52 Case History
SeflEU euyeum

63 Longitudinal

BeTBlemev

54 Cross - Sectional
GNHS Qeul®

24 24 Ectomorphic type of people comes under temperament.
GT&CLMIDTTLIS 6Uen& D& GET 616G 61eM& QIDUIBE6VE Fa M FITHHS6UTHET ?

R .
Viscerotonic

ANFA Gy L meofl &
Az Somatotonic

Q&FTWLLELMLTe&

_A3 Cerebrotonic
Q&flyGymLmefls
_A4 Cryptotonic

RALCLTLMeol&

25 25 The relationship between intelligence and language development is .
Blevoreoormle MHMILD QT aUeTFEF & )6t L GUIWLITET QG TLITL| 6T6dTLISI
Al Positive
GByenm
{\2 Negative
TRFLOEmD
:A3 Zero
Lhguwib

‘_A4 Perfect positive
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Blenm GBI LD

26 26 The technique that helps students to represent the relationship among set of ideas is known as :

&H(HHS QFMGLILGEHEHHEG @60 L CUIWITET QGTLITENL 2 6005 S5 BLOGHE00TL 6THS 2 &S LOTeTel & Eh &G
2 S ?

! Concept maping

H(HH S UMTLILLOMHSHLD

.AZ Mind maping
LOGOT GUEM LI LDME&5LD
63 Reasoning
SITIJEUOTLD & 600T L)1 560
4 Insight

9SG

27 27 According to Ebbinghaus statement of portion is forgotten in 8 hours after learning.
GTLILS 60T QM MBI 60T So MHMILILILG. HHMEVSHGLI LIME e H6ufler HHMEL LIGH WMeTgl 8 L0eoof]
CBHISHHGL NN woHS! QS DS

o
%
%
7
P %

o
N
%

28 28 Which type of test is called the Army Alpha Test ?
B LD & 560076 D MIGT 6THS 6L S CFMGHE60T Ay, TLA QLT GFITSHEM6UT 61T MENLN&SLILIGE S ?
Al R . .
. Verbal individual intelligence test

QFMMHEFTF Hevf|WITelT Bievoresor 16y & G& 560 60T

{AZ Non-verbal individual intelligence test

QETDHEF MM 60T WIT6T Bl6ooTevor 6y & C& MG 60)60T

3 Verbal group intelligence test

QETDHEFTT & (D Hl6voTe0oT M6 &F C& TG 60) 60T

54 Non-verbal group intelligence test

QETMHEFTTT G (D Hievoreuornileyd G Mg emeor
29 29 The best and suitable method to measure the trait 'honesty' is .
'GBIEMLN' 6TEOTM LIGTOTEMLI 3{6MT&:S 2 S| FIMHS LDMMILD QUITIHSSLOTET (LM :
fM Observation
2 MHMIGEHTEHH6)
;AZ Case study
Seoll LT Syllie)

53 Clinical study
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LGSSI6 U6

4 Interview

CBIWS a6y

30 30 A student who failed in Mathematics examination may say that on that day, the examination hall was dark due to power cut and hence he could

not fare well. This defense mechanism is called :

&85 Cxailey Ggmevalluymm (b WmeoTeu etTml CsFeusmmuiley WGTETFD S LILL®), @GL LTS
@BHSS T, HeT CaFeneu Fifleur eTWH), CHFTFF QLM (LY UWIETEVE0I6V ETETMI T MIGUSI SMHEHTLIL
BL&HENS 6T60T 60L& HHEVITLD.

,AI Introversion

3|5 GBS G6ML 600
62 Fantasy
L& M5 6076
_A3 Rationalisation
HTIeooTLd &ML &g 60
fA4 Projection
HDSASMI 6
3131 "gJ6) SemevorWilguilh FLflenip eTpH) eTeLeLTE: CaHMerflgD 67 M MIMIGET" eTeTmeNT :
M manwss

A

! 2 I|LISIVGHEVITLD

:A3 2LV FGSLOMTeT

A4 qurredl

32 |32 WaLEFFACWTH BHES T UFGalMs GLUILMWLLUILGSSLILGID L :

Al . )
. Q&meoTemmL LY,

,Az SleflFFLD L,

Al

: 3 (evemeull L,
;M O&PLD L,

33|33 sevallwmery "G Q&HENCWITL QLIS WLET" 26U erflei auTLD 860860 W 60LOWILOITE S 68 Teuor(h &L06VIT 60T

LenL &S HITe :

fM 2 OHGL LUIGESHS Qslwng

52 @& WMHemML W eUGLILemm

A a@fluler e

A4

GTE0T HeN G

34 34

“Fall] @BHSTLSTET FHHTLD 6Uen T (DLW, ISICLIMEV “2_L 6V HEVLDMTE @) (BHSTEVSTET 2 MG
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36

37

38

35

36

37

38

I UjLD*.
- @euaurfluilev LiudlesTol aUBLD letoflens CHTTHG S (H &S] LD.

,AI 2 QUMD 60011

52 GeummiemLD 36oot]
A3 .
7 Undls Qnrtlgey o6t

54 2 (H6USH 2|600f]

"G DMNEF QFUISS! DMIENNGE LD 6T68ILD M6l6em6V 66T R 60T 213U {6VEVET" — @elall] @)L LD QLMILD BHITeL

6151 ?
?M 560505M0 5

2 sispron

A3 .
: 15D 09l 630 60T

Ad
. UmbTeny)

" 91,600T(H) GSHMMILD, LDEMMIHS H).£3Me0T &[T ITLOEDT [BledIGOTaUMTE S Gl LD HemL QLMD" Fflwimer QsmLenT Qg fley

Q&FUIs.

Al gy etor(h CHMMILD WENMBHS B).LQMETH JITLOGT Fal L LD [Ble60ToUTS HELQLIMILD.

éz [Bl60)60TEU TS LD MBS H). 22 M6e0T &\ [ ITLO 60T 63T G L LD [F6M LG LIMILD 4,600T(H) C&HMMILD.

A3
,A4 LDEMMBHS &).LMe0TH TTLOCIT [Bl6eMeTel & 21,600T(H CHMMILD Tl L LD HenLQLIMILD.
BNl eTWITL M L| [T Teor8 S 60T LOGTMITLD &5ITE00TL LD 6T ?

Al P L
; QIEHF & HITEOoTL LD
A2 . L
. LDZImTE SMesoTL LD
A3

Sl STEO0TL LD

Ad . R R
7 B meumevaITILIg &TeooTL LD

Clummsais.

(A) upBsET - (1) @eoLiiGumsS)

(B) oiEn= - (2) mHoyuGumss)

(C) & - (3) @esvsmswTuGUTES)
(4) =yeguiy - (4) wpooiiGumsd

Al (A)-(3), (B)-(2), (C)-(4), (D)-(1)

LDEMMIBHS H).L 60T I MO0 60T oL L_LD [B160)60T6U TS 34,6007 (H GG MMILD [H6m LG LIMILD.
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A2 (A13). (B-@). (O-2). D)-(1)
A (A4, B12). (©-3). D)1

A (A4, B)63). (0-2). D)}

39|39 "B 2_6MITHE0L" TSN BIeVISHSHTEH FTHSH W &TsI el QuUmHmeT wmy?

,A] eTLfl6L (LG 6L 6T
A

2
. &OsT

_A3 6UMeuol & e 601

A4 L
L Q8WSITHS 60T

40 |40 “BITauLl CILITHETEHENET ET6LELETEY (LSS 60T TEILD Si6uDIIE SH6TEN6UE & [(HEE (PGS 66D 2 Dlaflwich

&H(HSHNBHS HLD LMLV eLNEVLD FoMILIGUT W ?

‘_Al Q& mevasTLILWIT

A2 . .
. Boeaustepal

A3 .
7 eeTemeuwmy

SLOLIF

A4

4@l THSHH0 LGSS60 H69560 2 oli96 Siflujib 5551060 OIS 2 6T QITGLD — @86 GL LD QLIHM B :

Al . .
. [beoTedITey

52 QB TS TLILIWLD

,A3 afyGemlwibd

A4 . . .

7 Qs metTenmey eNlemd &
42 4

SUANGE ST& GTINTTFHEHGEF QFUIS FMLUILISEH6T eTmI .

fM IDSIMT LIVSHEMEVE HLRSHSH MG LDSINT STINTTEF] LIGV&S6M6V&HE NS 6Tt QUWT @GLLUILLL g

2 unmys ggeort el (bl eupmSw S

,A3 Q&F6Tem60TUINEL SITLDIFITE ([HE5(E LDGUOLD6DOTL LILD {6mLN&&LILIL L Sl

A4 QEetTencoTuN6L 2 6iTerm ListTeoT T (B eflLomesT BlemauSH MG S STITEF QU @GL LU LG
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44

45

46

47

43

44

45

46

47

'&HEOOT QGRS S LIS & eTevoreomll| LIGQLTS) — @ 6lallq @ LD UMM HIT6U :
Al . .
. SUITLOTW6TLD
:Az FelILBH &TFLD
,A3 Loyl

:A4 [SRbIEIOETN)

“oer Li6v BIMI &600TL SIUTLD injley
2eTMHQMETILD BTGVLIEV G &T600TL SI6UTLD
eteorml FLA 6T FmLliemu LML 686 HeuIL@SHW SLAD SINflEsF Wiy ?

Al .
7 2 euenng sell &OsT
_Az smeflws sell eumed

,A3 SALIGUT TS meUT (NS Sl

:A4 LImeUeTCau M QLB H &S Tery

SULNE 9 TH 6T 'SHemeulomneil' el B QUmDMel :

fM QU mevof & Me 601

A2
L7

A LnrBw

:A4 &6l euof]

@ev& &6l GLIMEd — 9yHm Q& mev:

Al
. HO&F

A2 .
. GLBDS

A3 .
. UDBST

,A4 aumuilev

IMHSH GEHAT 06060 eTedTm QLIcwT 2FH &Mlenwilt Lmmlds GMILLIGID &G eIl B enlnbSi6rer Gamailey :

fM FHeengL1 QUIlw G meiley

A2 Gflyeuenrid Gamelley
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48

49

50

51

48

49

50

51

53 F(BaUTHISHS CHmalley

jM RCM&ITCHefE&TIh CaHmallsy

"THITEOT 6L 600T MG LD G\G5LLIGM IS 6IT eLN6OTMI. (LNG6V QGG SiMley;" 6T60T8: Sn MG :

,Al Quilwrmry

A2 . ..
7 SIbGUSST

A srpe

:A4 NBUSTHHST

Famml 1: GMHECSHTET GM&HEHEH G (LN6T ST 6Ter] @)L Geuesor(HLD.
Fa Ml 2: Heoll& QF ML CWIT H6ofl 6T(WHeMSCWT eflaTd:&H & &TLHID CUIMS sphenm CLmHECEHTETGN @)L
GeusTBILD.

Al s .
. Dol Efl: ambhm 2 Haum
A2

Fho 2 &) ; bl | Houm

A3 gapmi 1 &1 ; samm 2 &ifl

A4 5 .
. Dl eIl DM 2 H6l0

BT @ TSNS W LD, Qmtlenwiw]d UTL TS Helleng, CallfleVaVMS O ID; Falq6V6VITS LIMEME' 6TeTme :
Al . .
. QI&6V HLDFCHT6Y

,Az urrswmy

A3 LUMTH & m&eor

54 S eilLnevor]

GeuaBTFRAW T SeMDEFFF QLT 6TedT60r ?
Al . .
© BTesoTLeug My
52 Quilw g

A3 .
7 2 emLwimer

A sules

GET IT ON
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52

53

54

55

56

52

53

54

55

56

LImel 60T MBI & 6T 6T5 & 6m60T 6Uem & LILI(BILD ?

Al's
A2

A3

A4

FHEUMTEIT @60 65T HEM6TE C&H T 5.

)  (pwsy Slflensy - &EHFS S(HE
(i) wmp, efieneseT - BILYS S(medl
(i)  (SHLpsv, FMIE, DI EEA (T

(iv] G&mb, Craetomy - GCsmsv &mel

') obauih (iv)
§A2 (ii) LDﬂ')g).ILb (iv)
:A3 (ii) LDﬁ)Q.ILb (iii)

A i) b gid i)

AL D& &®NUN6T eUMLDBITET 6T6UEIETEY ?
Al . . .
. BODWIV gL 24,6007 (H) & 6T

A2 . A B . .
. el PSHeV LISS! 24,6007 (b) & 61T
A

: 3 LSS (NS6V LIS 60TMTMI 24,600T(H) & 6T

A4 . . . . . .
USSI NS6) LIS 6OTELO60TmI 24,6007 () &6l

SHEUMITET @) 606t LS CHTHOSHH &&HELD.

fM TS S eVaTemal LG UWT — @ Feor( HCT Q&M@

;Az BLL6eVETEM6 2L,GOUWT — enT 0L LT eUMmhIG

fm STAW6IMNE QUWIT — MLIMIGn LD 6U6THHS S

:A4 &HHSHSMTGSCLIWT — H[BeUCTEBEUM L LI & G5 60T
2 alenng HelEpT FIST QUMM el (HSI.

fM SHemeuLnmLneooll N (BS!
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;u unrs gneer ailmsi

:A3 @uregnger ailmal

A4
. By S eles

@ 6VEGHEITS &L [H&HCHTLL GamMalTsHal b &alleng Qalefluf (H&E eeflGTEa D @ HeEGLID LT 6T&l ?

fM Q66T LI

:Az A flwiur

53 QUEF LI

Sedllium

A4

LB W SImLd UL ub& 2imlEhedT, LomLD LIML e[S LOMEUEDT 6T6iTQMEV6VITLD LS LILIBILIGUT W ?
A L

:Az UMy 5 &me 6ot

A3

660l & e 601

54 55 600T 600T &5 IT&F 60T

"QU([H(LNEDT STLIGLITID" 6T6TERILD LIML 6V 6THS BIededBh S TGS maTLILIL (heTengl 2
Al

LDGV(HLD LOMEMEVLLLD

:Az UFWw 2T

A3 .

. Q&I (LDELEDIV

:A4 eriflGevmeflwiid

Fflwmer @enemranls CHIHOSMH &&Ha| 0.
:Al 7, LD — GLOGLGUITUL [HITEER 60T HI6vT] 6U(HL 6V
A2 . . . L Lo .
C7 0, b - prefler @ISt S195818 SLaIS0
A3 . . . . . . .

. D, 66T - GLo6b b @B GLITGBHSIS6

:A4 6T — GLDGLAUITUL HITE: & 60T Hi6vf] LG aLD GC\LIT([HIH SIS 6V
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61 61 The plural form of the word 'genius' is :
Al .
. genii
geniuses
A3 .
.~ genies
4 .
genias
62 62

'With neck-out thrust, you fancy how, legs wide, arms locked behind, As if no balance the pronebrow oppressive with its mind'.

The rhyme scheme of the poem is :

fM abba

.A2 aabb
A3

abab

64 aacb

63 63 Choose the correct usage of the modal verb :
We should help the needy.

Al Ability

2 Possibility

A3
) request

4 advise

64 64 The Madras Crocodile Bank, One of the largest reptile Zoos in the world is located at :

Al

The East coast Road, Kovalam in Chennai

52 The Coromandal coast, Karaikal in Puducherry

,A3 Malabar coast, Cochin, in Kerala

_A4 The Western coastal Plain, Kanyakumari, in Tamil Nadu

65 65 Fill in the blank with suitable homophones.
Siva wears a belt around her .

_Al Waste

52 Waist
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3 Waiste

‘,A4 Weist

66 66 Choose the correct synonym of the underlined word.

His dream shattered since his family did not encourage and support him.

! Destroyed
62 benefited

63 succeeded

_A4 depressed

67 67 Who is Moon Goddess?
(i) Cynthia
(ii) Athena
(iii) Demeter
(iv) Aphrodite

Al )

AZ Gii)

A3 (iv)
M i
68 68 Choose the correct phrasal verb for the given meaning.

"To go away from home for a vacation"

Al .
getin

.AZ get off

A3
. geton

A4
. getaway

69 69 you shut the door, Please ?

(Choose the correct modal verb)
AT Wit

A2 Would

A3

A4 Could
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70 70 Choose the right pattern of the given sentence.

During the war, many people lost their homes.
Al AsvioDpo

A2 ASVDO

A3 sviopo
A gvea

71 71 Identify the tense form of
'We are meeting the Prime Minister tomorrow.'

! Present Continuous Tense
‘,AZ Past Continuous Tense
A3

Future Continuous Tense

4 .
Present Perfect Continuous Tense

72 72

Find the genre of the poem from the following description. "A silly poem with five lines in which first, second and fifth line rhyme with each

other, and have same number of syllables".
1
Sonnet

52 Lyric

3 Limerick
A4

73 73 Which of the given options is a metaphor ?

Al L. . .
. Her voice is music to his ears

‘62 the flowers nodded their heads

,A3 The bus is slow as a snail

54 The boat danced in the puddle

474 Whose pen name is George Eliot ?

‘,Al Enid Blyton
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A2 Robert frost

53 Shanthini Govindan

"A4 Mary Ann Evans

75 75 Choose the plural form of 'daughter-in-law' ?

fA ! daughters-in-law

fAz daughter-in-laws

53 daughters-in-laws

64 daughter-ins-law

76 76 The Red Cross society is an International

'AI Humanitarian Service Organisation

A2

Health Organisation

53 American Organisation

‘64 Children Organisation

77 77 Which sentence is correctly arranged in a proper word order ?

fM She was determined to /not be a coward/in such a situation;/And she lived up to her word.
fu In such a situation;/not be a coward/ and she lived up to her word/ she was determined to
A3

And she lived up to her word/in such a situation;/ not be a coward / she was determined to

A4 . . L .
i She was determined to/ in such a situation;/ and she lived up to her word/ not to be a coward

78 She has been playing hockey 3 hours.

"AI since
../\2 .
fAS
.A4

from

79 79 Convert the following active sentence into passive.
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81

82

83

80

81

82

83

She has won the first prize.

fM The first prize has won by her

fAz The first prize has been won by her

"AS The first prize had been won by her

64 The first prize won by her

Identify the pattern of the following sentence.
Reading made him a complete man :

Al svoa
A2 gvoc

A3 sviopo

A% svea

Identify the error in the following sentence.
Neither his friends nor victor are aware of the news.

Al Were

52 Have been
A3
A4 .
The process of producing a noun from another part of speech by adding a derivational affix is called
Al

Nominalisation

52 Affixation

3 P
Passivisation

‘_A4 Pluralisation
Choose the correct antonym for 'moist'.
1
Marshy

A2 Slimy
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A3 Sultry

A4 Arid

is a figure of speech in which a part is made to represent the whole or vice-versa.

Al
. Imagery

A2

Synecdoche

fA3 Symbolism

54 Hyperbole

Identify the correct blend word for 'email'.

fM Electro + mail

2 Execute + mail

_A3 Electric + mail

54 Electronic + mail

Fill in the blank with correct infinitives.
Solar energy is used electricity.

! to collect

..AZ to collecting

‘,AB far collected

64 in collect

The idiomatic expression "At Sixes and Sevens" means

Al .
. moving very slowly

‘_Az completely perfect
A3

take a gap/ break

fA4 in a state of disorder

"We have not watched such a thrilling movie as this"
Identify the correct comparative degree for the given sentence.
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A1l This movie is more thrilling than most other movies we never watched.

A2 . . s .
7 This movie is most thrilling than many other movie, we have ever watched.

"A3 This is the most thrilling movie, we have ever watched.

64 This movie is more thrilling than any other movie, we have ever watched.

If he had more money, he (travel).
Choose the correct option.

"Al would have travelled

AZ il travel

63 would travel

54 shall travel

Choose the best option.
One who studies languages and their structure are called as

fM Pathologist

A2 Linguist

63 Ornithologist

A4 Geologist

Which of these are not perfect square numbers ?
QMO &SHLILLL 6T600ras6fleL 6Temeu (LN 6UITE & BIGET 2I6V6V?

)
169
A2 ss3
553
A3 1024
1024
A% s
1521

Supplementary angle of 0° is :

0° eor 16 & MTLIL| 8 G MeuorLD 6T60TLIS! :
A o
OO
62 114°

114°
A3 180°
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180°
54 50°
50°
Which one of the following is not a measure of dispersion ?

L etraupelerel ey 6TH& 2{6memer 62(H LITEU6D S|6Te06l D606V ?

"Al Mean deviation
syl elleugssin
.:A2 Co-efficient of variation
LTYUTL(HS Q&
'A3 Median

@ 6L Blenrev
;A4 Standard deviation

S LaNlevdsid

Which of the following is incorrect ?

L9 6076 (16U 60T6U D MIET 6TSI S6umi ?

‘,Al In a parallelogram, opposite sides are equal

R ©) 6060078 &S 60T 6T [JLILIG & BIG6T FLOLD
.'/\2 A diagonal of a parallelogram divides it into two congruent triangles

@) 606U TS H 60T (15 eLNED VAL L LD IS 6M60T @)(H FFeUEFLD (LN&GSMeooT hIGeT e LNfl&Hearmgl

3 The opposite angles of a parallelogram are not equal

R @M TSH 60 TH T8 G& 600N BIG6T FLOLDEV6Y

A4 The diagonals of a parallelogram bisect each other
@)D 6TUTE [T F 60T LN e GVEIILLThIS 6T 6260760 MG WITEITMI @) (H FLO& Fon Ml (HILD

The radius of a tractorwheel is 54 em. Calculate the distance covered by it in 10

rotations. (use Tr:g

7

SR(F WITELIT 6USTTIYE FSETHS6T 2,7 56 GlF.15 erauflsv, @151 10 weom

FHHmIb GUTE| ELEGD ClETensusne SMems {n=2—72 ETETE)

AI 352 cm

352 Q&8

fAz 3520 cm
3520 Q&L
_A3 3250 cm
3250 Q& .15
54 3025 cm

3025 Q&8

The value of a car 2 years ago was Rs. 2,50,000. It depreciates at the rate of 5% per annum. Now the value of the car is :

R0 LR WHF 6T 6606V 2 2,600T(H HEBEHE (LT e 2,50,000 248 @ BHSSI. 2IG6T LG UL 2b650T6H CHTMILD 5%
afgLbh GODE DS, ST FHCUTMSW LOGILIL| Spe0TSI :

_AI Rs. 2,20,625
€p. 2,20,625
.AZ Rs. 2,30,625

elB. 2,30,625
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A3 Rs. 225,625

o, 2,25,625
A4 Rs.2,35,625
o 2,35,625

97 97 If (-3, -2), (3, -3), (x, 1) and (-2, y) are the vertices of a parallelogram taken in order, then find the value of x and y.
(-3,-2), (3, -3), (x, 1) LDHMILD (-2, y) 6T6dTLIGT el flen&FUIMS 6T(H S S &E G METETLILIL L )60 600T&: T8 S 60T 2 &G\ &61T 6T6vf16v
X LOMHMILD y G)60T LDFLIL|SHE0I6TE: G IT60TS.

Al o
4,2
A2 40
4,2
a4
2,4
Aty
2,4

o8 o8 The angles x°, 2x°, 3x°, 4x° and 5x° lie on a point find the least angle ?

(B Lemerflufleb x°, 2x°, 3x°, 4x° LOMMILD 5x° G U G T600T I & 6T 260D [HSI6Temeor 6Tevflev Llg & & nilw G&s mevor &S 60T
DG IMLIG HITEO0TS :

:AI 120°
120°
A2 0
240
A3 300

30°

A4

. 18°

18°

99 99 If a ship travels at 35 km/hr it reaches its destination late by 15 minutes, But if it travels at 60 km/hr it is late by only 6 minutes. Find the
distance to be covered by the ship.
62(1h HLILIGL 06015 @G 35 km/hr Geusk SH 6V QFTMTEL GFF Gaustoriql @)L SHME 15 BILAL M&ET SIS0TS
QF 6T CFHLD . I 6U6IEITLY. 60 F).LS Caud G H 6L QFTMITE GFTCIITIYW QL SHME 6 BILAL MIG6T oL HGL0
STOGNMEH QF6TM CF(BHLD . HHHLILI &L 58 CoueiTlql STTEHNG &ITe00Td.

Al 10 5km
10.5 km
AZ 540km
24.0 km

A3 51 6km
21.6 km
A% 513 km
213 km

100 100 If a cube of a number is 1331 then find its square.
62([F) 6T600TE00T1 60T &6UTLOMEOTSI 1331 6T6vfl6L 315 6T600T60011 60T 6UITE & LD 6T60TeuT ?

Al o1
101
A2
111

A3 1
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121
A3
131
If there is a polygon of n sides (n> 3), then the sum of all interior angles is :
L6V GHMEOOTS G 60T LIGELD (n > 3), 6T60160 3 F 60T 26T G5 IT60uT M1 & 61Tl 60T Fon (N 6V
fM (n-2)x180°
(n-2)x180°
62 (n-3)x180°
(n-3)x180°
:A3 (n-1)x 180°
(n-1)x 180°
54 (n-2)x90°
(n-2) x 90°
Find the length of a chord which is at a distance of 6 cm from the centre of a circle of radius 10 cm is

ST 10 Q&F.15 2_6TeT aul L SH 6T enlowgGH el Bha 6 QF .15 Qg mensvaiey 2 6Ter r_r;rrsozrﬂsur Bermin :

fM 12 cm

12 Q&.18
fAz 10 cm
10 Q&8

53 6 cm

6 Q&8

54 16 cm

16 Q&5

Factorise
(7x+3y)2 - (2x-5y)2
STTTUILGS SIS : (Tx+3y)? - (2x-5y)?

1 (0xt2y)(5x-8y)
(9x+2y)(5x-8y)
2 (7x+2y) (5x+8y)
(Tx+2y) (5x+8y)
3 (0x-2y) (5x+8y)
(9x-2y) (5x+8y)
4 (5x+2y) (9x+8y)

(5x+2y) (9x+8y)

What fraction is fo be subtracted from 0% fo get Bli_ 2
6

8% T WlsiTsorHens U Glum 9% areir WlsiTerr SE160/(BB S 615 LleiTam5ens 5
sl e GeustoT(hib ?

Al 19
T e
_

16

A2 7
LT

|
da |
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A3

~0

o

~0

o~

A4

|~

?
4

105 {105 Ifa=-2,b =6, then (a+b)*=

a=-2,b=66T60l16V (a + b)2 =

Al

o~

o~

A2

A3

A4

106 106 The cost price of 21 eggs is equal to the selling price of 28 eggs. What is the loss or gain percentage ?
21 (WL e L&erfler 9L &8 ellemeuwlmergl 28 (LLemL&erfler ellhLiemer allensuss&& FLoLb 6Tenflev, G)evmLiLd

2J6V6uGI BLLLD 56750 6T6oTe0r?

AL Gain 20%

@)6LITLILD 20%

AZ Loss 20%
BLLLD 20%
A3 Gain 25%

@ 6VITLILD 25%
'A4 Loss 25%
BLLID 25%

107 107 A and B together can do a piece of work in 20 days and A alone can do it in 60 days. Then B will complete the work in how many days ?
A LDMHMID B 2B W @) (BeU(BLD @)6e0ettT b5 62(H Ceuemeuen i 20 BITLg6rfl60 (Ig L. A S6flCW 2HS Ceuemeven L
60 BITL_&erfleb (LY LILIMIT 6Tevfleb B S601GW 316 & GeemevemiLl 618 60 60T BHITL_Gerfleb (Lg LILImy ?

AL 40 days
40 BTL&6T
52 30 days
30 BITL_&6T
‘63 20 days
20 [BITL_&56T
_A4 50 days
50 BITL_&6T

108 108
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The median of the following data is 24. Then what is the value forx 2

Class Interval (CI) |0-10|10-20|20-30|30-40| 40-50
Frequency (f) 6 24 X 16 9

EpEsTanIb sreyserfls @lsnLblsnev 2emey 24 erestlsn, x @etr LY sTetTeoT ?

lfley @emLGlsuerl | 0-10 | 10-20 | 20-30 | 30-40 | 40 - 50
BlspGlaustor 6 24 % 16 9

Al o4
24
A2
23
A3
22
Ad s

25

In a circle, which one of the statement is wrong ?

(1 UL L SHH6V, HEUMITET G M 6METT 6T SIS :

fM All radii of a circle are of same length
R UL LS 60T 2METSH S 2T HIGEHL0 @G HeTLpenL el

2 Every diameter of a circle is a chord

QI L&H 6T p6uQaump el L (LD 6(H HITEOOTMGLD

63 Two diameters cannot have the same end points

@ L LMgser Gy (neneorLi LieTefl&emnem QUM (H&H S (WDIQW TS
54 Every chord of a circle is a diameter

QUL L SH60T 626l QeuT(H HITemmILD e el L LDM@GLD

A group of 1536 cadets wanted to have a parade forming a square design, how many more cadets would be required ?
1536 Liem L L1LulmH ) Inmesoreujas 6T Fgirallgailey jemflau@LliL Qi el BLLlery. GLevih 678 S emn 6T LienL Ll
LD omemrelJ&H6T dn(hGHemHS G emau?

Al 64

64

24
A% 4y
44

A spinner of radius 7.5 cm is divided into 6 equal sectors. The area of each of the sectors is :
7.5 Q&.1S SLT(LETET 62(H 6VLNGITEUT [JITETTSI 4, M FLD S|6T6Y 6T 6L L& G&HTeurLl LIGH SHemmesLi
Wflsas Ul (peTengi eTeflev, p6uGeumd eul_L G&meoorLl LG & udledT LFLiLI6Te) :

,Al 29.46 sq.cm
29.46 F.0&.18
.'/\2 2.946 sq.cm
2.946 F. Q& LS
A3 52946 sq.em

22946 &. Q&.15
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A4 22.946 sq.cm

22.946 &. QF .15

IfF|=1, Fy=1, F;=F,,_;+F, », then F is
Fi=1, F;=1, F,=F, |+F,, eTevflev, Fs

Al
A2

A3
A4
The sum of two rational number is % . If one number is % then find the other.

@m NEIS (nml 6TEaSHET 6T Fn(Hi&e0 % S4@Lh . 21 eTenar % eTenflél.  LOMEMITIT 6T6toTamen0Td: &HTenold -

Al

R Wl

A2

R | G

R | G

A3

A4 15

Find the side 'a’ of given figure whose perimeteris 35 cm.
K 4 a\

uLsSlsy elarhssiul (heter Fal () sugsusdlar shmera) 36 Gla.6. eeafler 2yssm
usb 'a’ @ &,

0

CER

ER

Al 35em

3.5 Q&8
62 3cm

3088
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6 Q&F.L5

Variance of first 9 natural numbers :
(PS6L 9 @ wiev eTetoraserfledr LiFeumUILg :

Al 20

w|B w

A2

M‘B

%]
o

A3

»[f [ 3

A4

N

-

If radii of two concentric circles are 12 cm and 13 cm then find the length of the chord of one circle which is a tangent to the other circle.
@ 6vor(h QLIMS! 6L 6uL L ig6rfledr oI MBIG6T 12 Q&5 Mol 13 Q&.LS. @ el L &5 60T [HT6u0T TeoTa!
IMHAMT®H QUL LSEHMHES QSTHCHTLITS eIDBHSTEV 2 6lelL L &S 60T [5T6uol160T [HETLD 6T6oT60T ?

Al

52 15 cm

15 Q&S
f“ 20 cm
20 QF.LS
‘64 25 cm
25 QF .S

Find the area and perimeter of the combined figure given below (units in cm) :

BEW QEmEHSEalUl R sl (5 2 meusEeT LUl InmMmih &HmeTe] SmeiiT (246 & eu).

‘,Al 155 sq. cm 46 cm

155 sq. cm 46 cm
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52 156 sq.cm 45 cm
156 sq.cm 45 cm
_A3 112 sq.cm 46 cm
112 sq.cm 46 cm

54 157 sq. cm 44 cm

157 sq. cm 44 cm

118 118 What is cube root of 97336 ?
97336 60T SE0TELAGULD 6T60TEOT ?

Al 56
36
AZ 56
26

A3 46
46
At 56
56

A (a-b)=3 and ab=>5 then a-b3=

(a-b)=3 DHOILD ab=5 LNDEG a>-b3= -

A3 62

62
Ad 9
7

1201120 A distribution having three modes is called :
2(H LITEUSISS 3 (NEHDH ST 2 6Tem6 Sevflev, 35l :

_Al Unimodal

@menm (WL HILILIT6I6L
62 Bimodal
@QULenL &L (BLILFel6
63 Trimodal
WhWwsL GLiureale
A%\ ultimodal
LesTLpas L (ILILIT6U60
121 121 In a nuclear fission chain reaction the critical mass means :

96158 Lere] Qs mLFellemeruiley LMo leney Blemm ereoriLIBleuG) :

_Al It is the minimum mass of a fuel which gives 931 meV energy

931 mev SaTellMH& LMMEN6L 26fl&HEF L GOMBSLILF Blewm Q& meoorL 6T lQLITHeT
‘AZ It is the minimum mass of a fuel which gives sustained chain reaction

QsMLIelemearen s QS TLIHSI BleneuBlmisSs CHe6auULITeT GembsLIL & Blenm Q& mesorL 6T flQLIT® 6T

The minimum mass of a fuel which gives the temperature of 106 °C

10%° C ojemeflh & mest QeuliLIBlemevenl SiaM&HeaI6060 GenMbSLILE Blemm G1&meuorL 6l QLIT®6T
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54 It is the maximum mass of a fuel to get controlled chain reaction

&L HILIUTLTer QS ML Fellenerenil Q& ML FeuSMETer HB&LLF Blenm Q& meoorL 6T flQLITeT

The only device which is not converting energy from one form to another is :

FECL QFMHEHLILLLmause e SLhmene R 6UlGalSH 6N BHS! LDHAMT®H LIS HHES LTHOTSS TS ?
:Al Transformer
et mm )
52 AC dynamo

AC emLeoTGLOIT

.A3 DC motor
DC GUOmLLT
,A4 Loudspeaker

669 QLIH&HS

The ratio between coefficient of linear, surface and volume expansion of a material is :
@ Qurertler et ellflQeuetor, LITLIL, QLIHES erevor LDMMILD LiHLD ellflGeuesor @eumnim@ @) 6oL Guiw|erer
5&H6)

Al
A2
A3

A4

1:3:2

The angle of incidence is 30°. The angle between incident light ray and reflected light ray will be :

LIHC&Terrd S eor InGHLIL| 30°. LG&H BHEH G erHQTTeflliL &9 [(H&HGD @)L Gl 2 6Ter GoTesorid :
fAl 30°
30°
A2 g0
15°
.AS 20°
20°
‘:A4 60°
60°

The ratio of Excess pressure inside air bubble in a liquid to Excess pressure in a soap bubble :

BgHev 2 6ter &rhm GLIHuse6r WemsW(WwsSSHDESLD CamliL GLIlul a6t
S & W &HSSH MG LOMET S&H6Y :

fM 1:4
1:4
52 1:2
1:2
?A3 4:1
4:1
‘64 2:1

2:1
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In India electricity is supplied for domestic use at 220 V. It is supplied at 110V in USA. If the resistance of a 60 W bulb for use in India is R,
the resistance of a 60 W bulb for use in USA will be :

@bHwrallev ef(serfledr LiWeTUTL 19 ME 220 V LO6TaT(WSS CeumiLimLigev WeTEmyb Sefl&asluGRng. @ sl
oFl&sTalley 110 V 36may 6t60r 3j6flEaLILOGSHME. @hH wmelley LiwerLRSSLILGIWD 60 W L 6oTe 618 &) 607
16T emL R eTanfleL @ W& mallel LweaTU® SSLILBID 60 W letTe 6mas & eor Lil6TgemL

Mk
R
A2 R
2R
A3 Ra
R/4
A4 R
R/2
1271127 The refractive index of four substances A, B, C and D are 1.21, 1.32, 1.42 and 2.7 respectively. The speed of light is maximum in :
A, B, C, D 61601 BIT60TE QUIMBETH6 60T sperflafleugsev eTetorgselt (emmGui 1.21, 1.32, 1.42, 2.7 @eumnilev eperfludledr
Fet1FCeus LD GILIIHLOLDITE 2_6Tel QLIMIHET 6Tl 2
Ao
D
e
C
A p
B
Ma
A
128 128 What is the principle used in Aerated drinks ?
STHEMMHMID QFWWLILLL GeflFumearmgefle HLp&amemiD S5Ha e LWeaTUGSH S :
‘f\l When pressure increases solubility of the gas increases.
WSS AHSFLIL aumuleler SamTHmener S &K&EL0.
62 When volume decreases solubility of the gas increases.
LI[BLO6T G6mmLUIL] eumuleler &emFHmeneor 215 &8 @&L0n.
"A3 When pressure decreases solubility of the gas increases.
WSS G auruleiler SengEmenear AHSHSGLD.
é4 When Temperature decreases solubility of the gas increases.
QauliLBlemev GenmLIL| aUmeNedT HenTH meneT HH &K & GLD.
129 1129 The valency of Iron in ferric oxide.
QUI& & F1q.60 @) ([HLDLI 6T &) 65 600r S M 60T
Al
2
A2y
4
A
3
Ms
5
130 1130 The valency of the positive ion 'X' is 2 and the valency of the negative ion "Y' is 1 then the chemical formula of the compound is :
X 61607 GBI LA 60T Wi 6o UN 63T @) 6106001 B 60T 2 LDMHMID Y 6TedTm 6TH TLA 60T 2 uievfluN6dT @) 6t 600T S 60T 1 eTevflev
2FCFTLSH 6T Cou) eumiim@® :
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Al xv,
XY,
AZ Xy
XY
A3 xy

XY
.A4 XY3
XY;

131 131 Best known fullerene formula is :
BETMTE MWL L &L6V6VIf160T eLN6V&HFn M UM :

.Al Ceqo
Ce7o
A2 ¢y
Cyo
A3 e
Coo
M clg
Clgo
1321132 If the pOH of the solution is 9.5, what is its pH ?

62(1H &0 J&F6960T pOH LG LIL] 9.5 6T60f16v, 45601 pH LOGILIL| 6T60TE0T ?

Al 55

55
A2 45
45
A3 35
35
A6
65

133133 Which one of the following anesthetic reacts with oxygen it forms a toxic carbonyl chloride ?
B LD & 600TL UMD MIET 675G WS DBHSI 2,86F a6 eflen el 5&&5 SHeTenLOW|emL L &TTCLITEnET6Y
SCeTMTemnIeL 2 (HEUTHGSRMS! ?
fM Nitrous oxide
MBL TN 3b,560 & (B
‘,/\2 Ether

&

é3 Chloroform
GCTmCII&LUTTLD
‘64 Propyl Halide
Hrlenusy ammenev(h

134134 The chemical compounds that release Hydrogen ion (H") when dissolved in water are called as Acids. The chemical substances that release

hydroxide (OH") ion when dissolved in water are called as Bases. This theory proposed by :

CauRF CeInGams Hifle BT EGLD CLUME emaml TRe6r SweflasaneT (H) Qeauaflul®h& ermer @s5MH&
211816VMBIG 6T eTETMILD, Flev CauHL1 QUITIBL GHenerT Hiflev BT @D CLMS emaml TT&eng® (OH") &l 6fl & enerd
BHTEI6VSI SITIIBIGET 6T6TMILD G MII6OTTI. @) &6 & ITETE0 & 6MUI (LOEDT 6D6UGH el

Al Lowry and Bronsted theory



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

135

136

137

138

e

135

136

137

138

Qevarif] - LIFmeTevL_ L Q& TeTem &

52 Arrhenius concept

jfeoflwieny Q& meTenss
3 Lewis concept

arul Q& meTen s
‘:A4 Ostwald's theory
SLENVEUMEVL Q& TETEN S
Which among the following does not produce water ?
GLhamemilh eflenergefle eTH 60 BT b eNemeTLIQLMIHET 3j606v ?

AL Metals with dilute acids
BI&HS LOl6uniIg EBL 60T 2 G6vTasmhigs6rfl6dr el 6o 6or

62 Reduction of metal oxides using hydrogen

AN JR6M60T Q& MeuT(H 2 GeuMd: 21,&em6en (b & 606 62(h & &6V
,A3 Combustion of hydrogen
mamL rRer &ThHmle eriflgey
‘,A4 Combustion of hydrocarbons

emaml G myLIeT &Tmmle eriflgen

Name the opening in leaves by non joining of two integuments of Ovule :

62([H & 69 65T G T6TT(H) &6V 2_6MM @)6METITLITLOE Sj6MLobHS G 6L G euerflufer QU :

fM Chalaza

&g

A2 Radicle

wemer Geury

_A3 Plumule

(Lpemer Gevor(h)
64 Micropyle
&6V SleM6T
Succession starts in region where moisture condition is adequate is :

GLIMSILOITET 266 FFTLILIGL6TeT @)L Mhi&efe) QG TLRBIGWD eull(enm eueTF&e :

Al Hydrosere

BrBlenev audlwenm eueT i
52 Mesosere
@enLplemev alldl(enm aleTIFS
3 Xerosere
aIreTmlev auldlWenm aueTIFSR
4 Halosere
2 a1 audlenm eleTiees
Cry protein extracted from bacteria.
&' Ursid erbs unsleflwsHelmha 56080 &s LGRS ?
AL Rhizobium
g Camwid
Azadobacter

A2

IFCLTCUGLIT

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaiu47 Eooale Play

3 Bacillus thuringiensis (Bt)
CLF6vevev Z1iflEhE WwieTE 6hv
‘64 Lacto bacillus
Bou&HBLIT BLIFIEL6VEN

1391139 What type of pollination takes place in Vallisnaria ?
aumedleny GBFlWIMEN6L 6THS UM WITET &I HSEF CFI&mME B QLB M ?

fM Anemophilly
SO O&ETHEHF CFI&HS
52 Zoophylly
N6V &ETHEHE CFT&aS
?A3 Hydrophylly
BT D&ETHSHF CFTHamSH
64 Myrmicophylly
I IDSHTHSHEF CFFHS
140 140 A scion and stock having the same thickness cut obliquely and the scion is fitted into the stock and bound with a tape in :

2CT LB L (H&Ee0o(H MM Ceuf &L enleml FMleUTds Qeul_ Ly 6L (h & S eomen L
Gauf& &L WL6T CLLU LWaTUGSS el Hleug :

! Crown grafting

piafll LGB
62 Approach grafting
SIS RLO BV

63 Bud grafting

QUML® LB\

4 Tongue grafting

BT @LOS6
141 141 Citrus Canker disease caused by Bacteria.
sivll&Feng S G GBI Umseflulmelme 2 6oL THMmS.

1 Xanthomonas oryzae
FMHCHMTELOMETITE R6MTCF
2 Erwinia amylovora
ergellesf WM 2jemCeumGeumym
3 Streptomyces scabies
L QLIGLTem& 6v 6ruCas L6
‘,/\4 Xanthomonas citri
FMHCHTELOmeoT v FL_ifl
142 142 (a) Somatic gene therapy is the replacement of defective gene in germ cell.

(b) Germ line gene therapy is replacement of correct gene in germ cell.
(c) Germ line gene therapy is replacement of defective gene in egg and sperm.

(a) 2_L6VQIF6V et PR FenTF 6TetTLIGI @) 60TF QF L& 6fl60 GemMUTHI ML E560TSH 66T @)L LD THMLILIH &6V.
(b) @\ 60T QF6L 26T AR FF 6T6dTLIGI @) 6TLIQLIBEHS QFeaefley Fifluimer eSeraer LD IDMHMUILIG S6.
(¢) @TFQF6 et PRFenTF eTedTLIGI a5 DMHMID 2J600TL QF6LG&ETIL GenmUMTHEmL W E6TSH6T G L LD
LIHMULG S6.

?M (a), (b) and (c) are wrong

(a), (b) LLODILD (¢) Heumi
A

2 (b) and (c) are correct

(b) LDHOILD (¢) F1f]
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A3 (a), (b) correct but (c) wrong

(@), (b) &1l SpeuTITed (c) Heums
54 (a), (b) wrong but (c) correct
(@), (b) BoUD 2pETITED (¢) F1f]
143143 Triple vaccine is a combined vaccine for protection against :

eneTmI GBMULISSELIL] 6T6TEID @@ & (B SHLIL LGHS SLL&TEID enaTm CHMISmS SH&ES DS :

_Al Diptheria, Pertusis, Tetanus

W USAwm, QUFGHev, QL L eoTev
52 Mumps, Measles, Rubella
QUMETEDI& @ MBS, S L LDEMLD, eHG LIGVEVIT

3 Tetanus, Diptheria, Tuberculosis

QLLLeoren, 19 LIGAlwim, &rEGHmUI
54 Measles, Polio, Tetanus
S Lhemin, GUTeNGWIT, QILL_L 6ol
144 1144 The following Endocrine gland partially functions as a lymphoid organ :

GLpseuorL &Ly e1gl Breridleveur S&Illwmgseln, BleorBr 2 miliILmseallb QFwWeLGRmS ?

‘_Al Parathyroid gland
uUMgmengsImi@d aru
:A2 Thyroid gland

osImi@ &yl

53 Thymus gland

MGL06N ST

4
Pancreas

8560)600T LLILD

145 145 Number of Cranial nerves and Spinal nerves in Frog is :
H6uem6emuiledr BHITLDL| LD6TTL_ 605 H 6V & MeuorLILI(BILD eLREmEN LM MILD SeooT(heUL BIFLDL|&6rl6dT 6Teuor6u0r1 8 6m8 :

fM 12 pairs and 31 pairs
12 @) 6m600T LOMMILD 31 &)60)600T
fAz 10 pairs and 12 pairs
10 ©)60)600T LOMMILD 12 @)6mr600T
53 10 pairs and 10 pairs
10 ©)60)600T LOMMILD 10 @)60)600T
54 31 pairs and 12 pairs
31 @ 6me6uoT LOMMILD 12 E)60)600T

146 146 Kavitha's mother is washing the marine crab for the preparation of lunch. Kavitha asked her mother to show the blood of crab, It looks light
blue in colour. Find that blood pigment of crab.

&60lgmeiledr QLD G 2_6T0T6Y FemLDLILIGMNE TS &L 6V [H600TILM60T &(Well&H6 & TeoT(H @ HeHRMITY. HellGm
H6T SIDITEIL LD [F600TIQ 60T @) T&H S5 MG SHMeuor &G CHLGMmmaT. o1& UTFLIusmES Qalerflf Bev
BIMS55H 6L @BHERMS!. 560079 60T @\ THSHH 6V 2_6Tem BlImLlemnuwl &eoor(HLIIG &G LD :

Al Haemoglobin

anfGLoMm& GermmLiledr

2 .
Haemocyanin

anjGLOM& Wimevfl et

53 Haemolymp

anjGLomedIDL
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148

149

150

e

147

148

149

150

A4 Haemoerythrin

anf@Lormer il & fledr
The obstruction of the blood by abnormal mass of materials is called :

@UWELEE WDMMITET QUITIHLGETTL @ T5HS HTeTMmIGHe 60 G MedTmIlD emL LIl :

_AI Aneurysm

GOBHBTETL OUWTSSLD
.AZ Varicose veins
@QUSS & ([H6T BITETMHISH 6T
53 Embolism
e @UImedl&FLD
54 Therosclerosis
2HCTme & BT TF 6
The antibacterial enzyme Iysozyme was present in :

UM eflwmgsemer Fleng s @D QBTH WM SCFTa&FD & ILI(GID UGS :

{“ Duodenum
(PSETR NG
A2 .
.~ Jejunum
BH\&GL6V

3 Saliva
R )
Stomach

A4

@enTlenL

The daily requirement of Iodine for the proper functioning of thyroid gland is :
SITUG S&ILNuleT Pmbs Q& WeLITH & EBE S TeT Feordfl oIGUITLY 6ol6T 26Te) :

fM 120 gm
120 gm
A2 120 g
120 pg
A3 120 me
120 mg
A% 190 dg
120 dg

Blood capillaries are absent in one of the following body parts.

Netreumeueteumnilev 6Thd 2 L awmiliLlley @US& SHSIH &6T &mevoriLLellevemev ?

'AI Bones
GTILDL| G561
.A2 Tooth
LM &6t
_A3 Tongue
BéS
fA4 Cartilages

GGBSOHDL
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